4. Consider the differential equation % =2x -

(a) On the axes provided, sketch a slope field for the given differential equation at the six points indicated.
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4. Consider the differ lcquatio

(b)Fdj—} terms of x and . Determine the vity of all solution curves for the given differ
X

equation in Quadrant IL. Give a reason for your answer.
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4. Consider the differential equation % =2x -

(C)Lcty=f()bth e particular solution to the dffret]qt n with the initial conditio f(2)=3,
Does f have a relative minimum, a relative maximum, either at x = 2 7 Justify your answer.
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4. Consider the differ lq'd—

Pt Cha\lengmg Prob\em

stants m and b for which y = mx+ b 1 o the differ
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the pocticular solution (y=), but we
do notr hove on inhal Condition.

This problem actually tums into a

\o\oj substiution problem.
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Usin() 72-m=0, Mm=2.
Then substitule m=7 Yo “b-m=0
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